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Question Number : 1 Question Id : 87827049680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Drying of clay leads to the deficiency of-

. Water
Grog
. Plaster

. Stone

L

F =N

Options :

878270195441. 1
878270195442, 2
878270195443. 3

878270195444. 4

Question Number : 1 Question Id : 87827049680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1. 9d
2. AT
3. @R
4 wH

Options :

878270195441. 1
878270195442. 2
878270195443. 3

878270195444. 4

Question Number : 2 Question Id : 87827049681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How do pyrometric cones help in the process of baking the utensils?

1. Bisque firing

2. Glazing

3. To know the temperature
4 To make clay strong

Options :

878270195445, 1
878270195446. 2
878270195447. 3

878270195448. 4

Question Number : 2 Question Id : 87827049681 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IRERER S ®IF 9a-1 @I GoH &I Uhdl § &4 Hag Bd 87

1. a5 BEi

2. T
3. dYHE 944 & fog
4. RID] Bl € §4H & U

Options :

878270195445. 1
878270195446. 2
878270195447.3
878270195448. 4

Question Number : 3 Question Id : 87827049682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Terracotta usually fired at the temperature of

1. 800°C - 900°C

2 11009C - 1300°C
3. 1200°C -13009C
4.1000°C - 1200°C

Options :

878270195449. 1
878270195450. 2
878270195451. 3

878270195452. 4



Question Number : 3 Question Id : 87827049682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

DIl 3MHIR | 34 dlUHH U3 IS Al o

1. 800°C - 900°C

2. 1100°C - 1300°C
3. 1200°C - 1300°C
4. 1000°C - 1200°C

Options:

878270195449. 1
878270195450. 2
878270195451. 3

878270195452. 4

Question Number : 4 Question Id : 87827049683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a characteristics of clay?

1. It is highly transparent

2. It has a natural ivory colour

3. It is easily scratched

4 1t can be decorated with gold or low-fired enamels

Options :

878270195453. 1
878270195454. 2
878270195455, 3

878270195456. 4



Question Number : 4 Question Id : 87827049683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fgfafad o 4 o1 9@ giad! 31 fa=igd 98l 82

2. 30 UIPia® Meadl TTeid &
3. 98 §3ddl ¥ TERad 8l Idi 8§
4. = vl g1 FE-SaIad dEEH! | iead a1 o 9adi 8 |

Options :

878270195453. 1
878270195454. 2
878270195455. 3

878270195456. 4

Question Number : 5 Question Id : 87827049684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sgrafftoisamethodof ...

1. Mould

2. Casting

3. Decoration
4 Clay making

Options :

878270195457. 1
878270195458. 2
878270195459. 3

878270195460. 4



Question Number : 5 Question Id : 87827049684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-

iftear . @I tE R

Options:

878270195457. 1
878270195458. 2
878270195459. 3

878270195460. 4

Question Number : 6 Question Id : 87827049685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the name of the traditional pottery style from West Bengal known for its dark brown or black colour and intricate
design, often depicting mythological themes?

1. Bankura pottery
2. Jaipur pottery

3. Warangal pottery
4 Khurja pottery

Options :

878270195461. 1
878270195462. 2
878270195463. 3

878270195464. 4



Question Number : 6 Question Id : 87827049685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O ST OO A it 0 oo T 0 T T o 1 T €7 R e e o o o, o ot
TR fowa ot gl &2

Options:

878270195461. 1
878270195462. 2
878270195463. 3

878270195464. 4

Question Number : 7 Question Id : 87827049686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Instrument, fitted in the Kiln for measuring temperature is knownas ... .

1. Thermometer
2. Barometer

3. Pyrometer

4 Ammeter

Options :
878270195465. 1
878270195466. 2

878270195467. 3



878270195468. 4

Question Number : 7 Question Id : 87827049686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ e
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1. dTgETdY
3. ORI
4. THHR

Options :

878270195465. 1
878270195466. 2
878270195467. 3
878270195468. 4

Question Number : 8 Question Id : 87827049687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At what cone bisque fire for porcelain is dong?

1. Cone 4
2. Cone 2
3. Cone 10
4 Cone 8

Options :
878270195469. 1
878270195470. 2



878270195471. 3

878270195472. 4

Question Number : 8 Question Id : 87827049687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

sy

it @ fou feg ®H W fa B f&ar Ik 82

[ T

1. 2P

2. 9P

3. ¥® 10

4 TP 8
Options:
878270195469. 1
878270195470. 2
878270195471. 3

878270195472. 4

Question Number : 9 Question Id : 87827049688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the chemical reaction involved in the setting of Plaster of Paris?

1. Hydration

2. Oxidation

3. Combustion

4 Polymerization

Options :

878270195473. 1



878270195474. 2
878270195475. 3

878270195476. 4

Question Number : 9 Question Id : 87827049688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WReT 1% ufvg ot afen # gfmfea amte afbfea o g2

1. ScdgreH

2 G H
3. GeA

4. dgfcipld

Options:

878270195473. 1
878270195474. 2
878270195475. 3

878270195476. 4

Question Number : 10 Question Id : 87827049689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Pinching method, to make a pot what is required to join the first and second part?

Slip
POP

- Fevicol
. Grog

Options :



878270195477. 1
878270195478. 2
878270195479. 3

878270195480. 4

Question Number : 10 Question Id : 87827049689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fifefr faftl &, U um (adq) 99 & foT Ugel 3R gOR YR &I s & foy & /9%y ® 82

1. [y

2 e
3. Bfgdia
4.7

Options :

878270195477. 1
878270195478. 2
878270195479. 3

878270195480. 4

Question Number : 11 Question Id : 87827049690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which clay is also known as Kaolin?

1. Red Clay
2. China Clay
3. Ball Clay
4 Brown Clay



Options :

878270195481. 1
878270195482. 2
878270195483. 3

878270195484. 4

Question Number : 11 Question Id : 87827049690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195481. 1
878270195482. 2
878270195483. 3
878270195484. 4

Question Number : 12 Question Id : 87827049691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not used for making a pottery?

1. Small sponge

2. Wire ended toal

3. Welding rod

4. Half moon-shaped wood

Options :

878270195485. 1
878270195486. 2
878270195487. 3
878270195488. 4

Question Number : 12 Question Id : 87827049691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiad o 4 &g 39gi 9guE e &4 el (a4l ardl 87

1. Bl W
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3 9dlk 89

Options:

878270195485. 1
878270195486. 2
878270195487. 3

878270195488. 4

Question Number : 13 Question Id : 87827049692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Porcelain is hard denseand ... in colour?

1. Red

2. Yellow
3. White
4 Brown

Options :

878270195489. 1
878270195490. 2
878270195491. 3

878270195492. 4

Question Number : 13 Question Id : 87827049692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y -
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1. @@
2. gier
3. 9hg
4. 91

Options:

878270195489. 1
878270195490. 2
878270195491. 3

878270195492. 4

Question Number : 14 Question Id : 87827049693 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Engobe is typically applied to ceramics at which stage of the pottery making process?

1. Leather hard
2. Bone Dry

3. Greenware
4. Bisqueware

Options :

878270195493. 1
878270195494. 2
878270195495. 3

878270195496. 4

Question Number : 14 Question Id : 87827049693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TIq: SidIuE R @1 Ui & 69 =0 § gguEl | 3 (Engobe) TR SR 82

1. T 818
2. 9H SR
4 fF@Ham

Options :

878270195493. 1
878270195494. 2
878270195495. 3

878270195496. 4

Question Number : 15 Question Id : 87827049694 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In slip casting, mold gets ready in how many parts?

1. One part

2. Two parts

3. Four parts

4 As per the need

Options :

878270195497. 1
878270195498. 2
878270195499. 3

878270195500. 4

Question Number : 15 Question Id : 87827049694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&u s 4 dics fa- yrT § GO 81 §iar 82

1. U HFT
2. &l Y
3. IR YT
4. HTEHATIR

Options :

878270195497. 1
878270195498. 2
878270195499. 3

878270195500. 4



Question Number : 16 Question Id : 87827049695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reduction firing is known for producing

1. Bright and vivid colors
2. Crystalline surface

3. Matte finishes

4 Crazing

Options:

878270195501. 1
878270195502. 2
878270195503. 3

878270195504. 4

Question Number : 16 Question Id : 87827049695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeOHp v GBI & fAufaRad & Idea & faw 9= 9141 &:

1. IO A Sidd 3T
2 URGRI® TR Y
4. Uy oz (Tds fdedA)

Options :

878270195501. 1
878270195502. 2
878270195503. 3

878270195504. 4



Question Number : 17 Question Id : 87827049696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kiln are of how many types?

1. Up draft

2. Down draft

3. Side draft

4. Up draft and down draft

Options:

878270195505. 1
878270195506. 2
878270195507. 3
878270195508. 4

Question Number : 17 Question Id : 87827049696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YET fhd UBR & aidl 82

1. 30

Options :
878270195505. 1
878270195506. 2

878270195507. 3



878270195508. 4

Question Number : 18 Question Id : 87827049697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following materials is commonly used as insulation in kiln construction?

1. Aluminium
2. Concrete
3. Fiberglass
4 Copper

Options :

878270195509. 1
878270195510. 2
878270195511. 3
878270195512. 4

Question Number : 18 Question Id : 87827049697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafaRad ® § g Tl &1 SUaiT AR | HEYHS @ FRI0 § It & T § 61 9 872

1. TegiHHTH
2. BhIc
3. P3SNy
4 PR

Options :
878270195509. 1
878270195510. 2

878270195511. 3



878270195512. 4

Question Number : 19 Question Id : 87827049698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a characteristic of a downdraft kiln?

1. Hot air rises through the stack

2. Combustion occurs from bottom to top
3. Cold air enters from the top

4_Air circulates horizontally

Options :

878270195513. 1
878270195514. 2
878270195515. 3

878270195516. 4

Question Number : 19 Question Id : 87827049698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufaiad °§ 9 ©F U SIe-ete Yl ol [92iuar g2

1 PHIG XY TH gaT odl &
2 AR W dd adl &
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Options :
878270195513. 1

878270195514. 2



878270195515. 3

878270195516. 4

Question Number : 20 Question Id : 87827049699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of a sagger in pottery?

1. Giving shape to clay

2. Protecting pottery from firing
3. Glazing clay

4 Drying of clay

Options:

878270195517. 1
878270195518. 2
878270195519. 3

878270195520. 4

Question Number : 20 Question Id : 87827049699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HGUH (pottery) Td-T1 H TR (sagger ) &1 &1 3534 §7?

1. T & HPhd &
3. TifeT i
4. gitid] & gEH

Options :

878270195517. 1



878270195518. 2
878270195519. 3

878270195520. 4

Question Number : 21 Question Id : 87827049700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Islamic Pottery known for its colorful geometric patterns and intricate design is commonly referred to as:

1. lznik ware

2. Seljuk ware
3. Safavid ware
4 Mumluk ware

Options:

878270195521. 1
878270195522. 2
878270195523. 3

878270195524. 4

Question Number : 21 Question Id : 87827049700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o
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Options :



878270195521. 1
878270195522. 2
878270195523. 3

878270195524. 4

Question Number : 22 Question Id : 87827049701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chemical formula of clay is......___.

1. Al,0,25i0,2H,0
2. Alb0425105,2C05
3. CaCos

4 ALO;

Options :

878270195525. 1
878270195526. 2
878270195527. 3

878270195528. 4

Question Number : 22 Question Id : 87827049701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hii®] BT AHAHD G &

1. Al,05251022H,0
2. Alb04251052C05
3. CaCoa

4. AlbOs

Options :



878270195525. 1
878270195526. 2
878270195527. 3

878270195528. 4

Question Number : 23 Question Id : 87827049702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which region in India is famous for its papier-maché pottery characterized by intricate hand-painted designs on light-weight
articles?

1 Kerala

2. Himachal Pradesh
3. Kashmir

4 Assam

Options :

878270195529. 1
878270195530. 2
878270195531. 3

878270195532. 4

Question Number : 23 Question Id : 87827049702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WGl @1 DH 1 851 310 U7 (papier-méche) JEURI i ot Wit &, o afcq R agafl T et g1y @ o fere
¥ e i 22

1 30
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4

Options :

878270195529. 1
878270195530. 2
878270195531. 3

878270195532. 4

Question Number : 24 Question Id : 87827049703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ratio of water and Plaster used by mold makers?

1.:2:3
252
3.34
4 45

Options:

878270195533. 1
878270195534. 2
878270195535. 3

878270195536. 4

Question Number : 24 Question Id : 87827049703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

i

Aits (AT R1 3Uan [T oH ard ofd SR TR &1 SUTd?

1.:2:3
2. 32
334
4 45

Options :

878270195533. 1
878270195534. 2
878270195535. 3

878270195536. 4

Question Number : 25 Question Id : 87827049704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"The Dinner Party" a ceramic Installation was made by.....

- Mariyam Shapiro
- Frida Kahlo
-Judy Chicago

. Barbara Krugar

A

Options :

878270195537. 1
878270195538. 2
878270195539. 3

878270195540. 4

Question Number : 25 Question Id : 87827049704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U o1 il Ufagiod & fear ardl FRafeiad g a=m mar o

1. ARG R
2 6181 ®ledl

Options :

878270195537. 1
878270195538. 2
878270195539. 3

878270195540. 4

Question Number : 26 Question Id : 87827049705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of adding retarders to plaster of paris?

1. To accelerate the setling time
2. To slow down the setting time
3. To change its colour

4 To make it more transparent

Options:

878270195541. 1
878270195542. 2
878270195543. 3

878270195544. 4

Question Number : 26 Question Id : 87827049705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RE? 3% URY § Hed (retarders) SIS &1 31 3530 87

1. T oy § O &3 & fau
2 Ui g0y & i &3 & fau
3. 3! 1 dgoH & (ol

Options :

878270195541. 1
878270195542. 2
878270195543. 3

878270195544. 4

Question Number : 27 Question Id : 87827049706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which ancient place is known for its highly decorated, glazed pottery known as Maiolica ware?

1. Greece

2 Renaissance ltaly
3 China

4 Eqypt

Options :

878270195545. 1
878270195546. 2
878270195547. 3

878270195548. 4

Question Number : 27 Question Id : 87827049706 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&M T I UM 30 SHfcraferd, THie Geur o [ 9H! kil 5 forg i 39 o ©0 & TH1 ol 87

1.31H

3.4H
4 4

Options :

878270195545. 1
878270195546. 2
878270195547. 3

878270195548. 4

Question Number : 28 Question Id : 87827049707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a type of intermittent kiln?

. Clamp kiln
- Tunnel kiln
. Scotch kiln
- Shuttle kiln

L

Options :

878270195549. 1
878270195550. 2
878270195551. 3

878270195552. 4



Question Number : 28 Question Id : 87827049707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgfafad o ®11 T U TSR & f-=R10® Y2l el 8?

1. &Y Ygl
2. T Yl
3. ®hId YLl
4. e YEl

Options:

878270195549. 1
878270195550. 2
878270195551. 3

878270195552. 4

Question Number : 29 Question Id : 87827049708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of adding grog to clay?

1. To reduce shrinkage
2. To increase plasticity
3. To improve texture
4 To add color

Options :

878270195553. 1
878270195554. 2
878270195555, 3

878270195556. 4



Question Number : 29 Question Id : 87827049708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiie! H USRI (grog) S0l & 1 354 87

1. 9paq (R s) &I &H &3 & g
2 @ReRyd & 9o & fau

3. 7134 (§71a¢) H GuR & forg

4 37 Yo & fom

Options:

878270195553. 1
878270195554. 2
878270195555. 3

878270195556. 4

Question Number : 30 Question Id : 87827049709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Raku pottery originated in 16™ century in

1. China
2. Greek
3. Japan
4. Egypt

Options :
878270195557. 1
878270195558. 2

878270195559. 3



878270195560. 4

Question Number : 30 Question Id : 87827049709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P HGUEHH & St 16df Adleal...... Hgg ol

1. 94
2. Uid
3. S
4 g

Options :

878270195557. 1
878270195558. 2
878270195559. 3

878270195560. 4

Question Number : 31 Question Id : 87827049710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is one of the oldest and most universal of ceramic technique?

1. Pinching
2. Coiling
3. Jiggering
4 Slab

Options :
878270195561. 1

878270195562. 2



878270195563. 3

878270195564. 4

Question Number : 31 Question Id : 87827049710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaied o € oF O giaedld de-e @ 998 [HE! AR 994 Jaifis deie o2

1. fafdm

2 HISfeHT
3 fopmiin
4 g (9)

Options:

878270195561. 1
878270195562. 2
878270195563. 3

878270195564. 4

Question Number : 32 Question Id : 87827049711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Earthenwarehas ... . . percentage of shrinkage after firing.

1. 2-5%

2.10-15%
3. 25-35%
4 18-22%

Options :

878270195565. 1



878270195566. 2
878270195567. 3

878270195568. 4

Question Number : 32 Question Id : 87827049711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HGUH! (Earthenware) & UdbH & U8Td G- (Rigs) dIufaed ... B8l

1. 2-5%

2.10-15%
3. 25-35%
4.18-22%

Options:

878270195565. 1
878270195566. 2
878270195567. 3

878270195568. 4

Question Number : 33 Question Id : 87827049712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following city is famous for Blue pottery?

Gorakhpur
Nizamabad
Jaipur

4. Lucknow

1.
2
%

Options :

878270195569. 1



878270195570. 2
878270195571. 3

878270195572. 4

Question Number : 33 Question Id : 87827049712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafied 7 & P o Te 19 JeuH & o s
1. TRER

2 FemaEg

3. SR

4. a1k

e
=

Options:

878270195569. 1
878270195570. 2
878270195571. 3

878270195572. 4

Question Number : 34 Question Id : 87827049713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Throwing Rock salt into the fire at the maturing temperature of the clay body results in

1. White Peel
2. Pink Peel

3. Orange Peel
4 Purple Peel

Options :



878270195573. 1
878270195574. 2
878270195575. 3

878270195576. 4

Question Number : 34 Question Id : 87827049713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gftie! (e & URuP dIIHHE W de1 T0E S 3R &9 (Throwing) & URUMERGEY gidl &

1. Thg, faia!
2. T[Tl feserapt
3. AR e
4§ foaar

Options :

878270195573. 1
878270195574. 2
878270195575. 3

878270195576. 4

Question Number : 35 Question Id : 87827049714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a clay ware?

1. Earthware
2. Stoneware
3. Woodware
4 Porecelain



Options :

878270195577. 1
878270195578. 2
878270195579. 3
878270195580. 4

Question Number : 35 Question Id : 87827049714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty
4

e

T W, T U TR o P
HHCINdd H | ®[H-91 3¢ 9491 46

1. IR
2 WA
3. g8
4 gifticH

Options :

878270195577. 1
878270195578. 2
878270195579. 3

878270195580. 4

Question Number : 36 Question Id : 87827049715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cones indicating the temperature scale are in the shape of

. Square

_ Slender triangular pyramid
. Circular

- Rectangle

B T

Options :

878270195581. 1
878270195582. 2
878270195583. 3
878270195584. 4

Question Number : 36 Question Id : 87827049715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T =

TG A9 &1 21T X 1 B S1PhT H B &

1. g

2. 3 Fpiuig
3. GAIBR

4 AABR

[

T
[UlHs

Options:

878270195581. 1
878270195582. 2
878270195583. 3

878270195584. 4

Question Number : 37 Question Id : 87827049716 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Time machine is a ceramic art work by:

1. Bill Stewart

2. Tom Rippon

3. Peter Max

4 Jeckson Pollack

Options :

878270195585. 1
878270195586. 2
878270195587. 3

878270195588. 4

Question Number : 37 Question Id : 87827049716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<13H HRiH FafdaRad @f te gRis saeid e

1. faa &g
3 diex &ag

Options:

878270195585. 1
878270195586. 2
878270195587. 3

878270195588. 4

Question Number : 38 Question Id : 87827049717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which property makes plaster of paris suitable for making intricate and detailed molds?

1. Low strength
2. High cost

3. Fine texture

4. High opacity

Options :

878270195589. 1
878270195590. 2
878270195591. 3

878270195592. 4

Question Number : 38 Question Id : 87827049717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

it = W N

DI T 70T WS 310 URd &l wifed 3R §

& Uid §9H @ AT Iugad &1 52

1. $H Holgd
3. O §41d¢
4 I AURGRG

Options :

878270195589. 1
878270195590. 2
878270195591. 3

878270195592. 4

Question Number : 39 Question Id : 87827049718 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Due to different type of pottery or ceramic work what is most important in relation to kiln environment?

1. Temperature
2. Atmosphere
3. Shape

4 Fuel used

Options :

878270195593. 1
878270195594. 2
878270195595. 3
878270195596. 4

Question Number : 39 Question Id : 87827049718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafis UaR & Geured 91 gReuEed & SR Y & aaey & 9ay § 9ed Heaul a1 82

1. dIYAH
2. dididd{u

3. P
4. 34 TG

Options :

878270195593. 1
878270195594. 2
878270195595. 3

878270195596. 4



Question Number : 40 Question Id : 87827049719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kaolin clay changes to ............ after bisque firing

. Black
. White
. Blue

. Green

B T o

Options:

878270195597. 1
878270195598. 2
878270195599. 3

878270195600. 4

Question Number : 40 Question Id : 87827049719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI3Ife gRid! fov BRI G UYL o gitafdd gl wirdl

1. Tl
2. Ohg
3. i
4.8

Options :

878270195597. 1
878270195598. 2
878270195599. 3

878270195600. 4



Question Number : 41 Question Id : 87827049720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In order to produce white glaze, transparent glaze is mixed with ... .

1. Copper Oxide
2_Zinc Oxide

3. Tin Oxide

4 Manganese

Options:

878270195601. 1
878270195602. 2
878270195603. 3
878270195604. 4

Question Number : 41 Question Id : 87827049720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qh 7ol &1 Jodlad ®i & o0, URGH T @ . & 91y ifed P g

Options :
878270195601. 1
878270195602. 2

878270195603. 3



878270195604. 4

Question Number : 42 Question Id : 87827049721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Raku pottery known for?

1. Intricate carving

2. High-fired durability

3. Low fired with rapid cooling
4 Coil-building technique

Options :

878270195605. 1
878270195606. 2
878270195607. 3
878270195608. 4

Question Number : 42 Question Id : 87827049721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1% HeUH 9 & e o &d 82

2. J=d-dlfcid ™A«
3. did Ziideq & 91y Fy-sarfad
4. U A aH-id

Options :
878270195605. 1
878270195606. 2

878270195607. 3



878270195608. 4

Question Number : 43 Question Id : 87827049722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a traditional Japanese hand-repairing technique of pottery?

1. Kintsugi
2. Raku

3. Pinching
4 Coiling

Options :

878270195609. 1
878270195610. 2
878270195611. 3

878270195612. 4

Question Number : 43 Question Id : 87827049722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

FEfRad 8 € oF 9 TRURE 19T d@-1d & 98 g U &1 814 T GURT ofidl 87

Options :
878270195609. 1

878270195610. 2



878270195611. 3

878270195612. 4

Question Number : 44 Question Id : 87827049723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VK. Munusamy who won Padma shri in the field of terracotta artistry in 2020 belongs to which city.

1. Mumbai

2. Puducherry
3. Gujarat

4 Kerala

Options:

878270195613. 1
878270195614. 2
878270195615. 3

878270195616. 4

Question Number : 44 Question Id : 87827049723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2020 H CUdbIe] HATHAD & &3 H U8 Sila- ard di. & FJamH1 g e & 82

Options :

878270195613. 1



878270195614. 2
878270195615. 3

878270195616. 4

Question Number : 45 Question Id : 87827049724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Growing Stone” oxidised stone ware is an art work of which artist?

1. Gur Charan Singh
2. Nilima Sheikh

3. Lydia Mehta

4 P R.Daroz

Options:

878270195617. 1
878270195618. 2
878270195619. 3

878270195620. 4

Question Number : 45 Question Id : 87827049724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"7 K" Hlwlipd EHIW fhH SR B HAlBid 52

1. TR 0 88
2 Hiferar 2
4 °f 3R TRV

Options :



878270195617. 1
878270195618. 2
878270195619. 3

878270195620. 4

Question Number : 46 Question Id : 87827049725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct chronological order of firing temperature from highest to lowest:
A_ Porcelain

B. Bone China

C. Terrocotta

D. Stone ware

Choose the correct answer from the options given below:

1.C,ABD
2ABC

3.C,B,D,A
4D CAB

Options :

878270195621. 1
878270195622. 2
878270195623. 3

878270195624. 4

Question Number : 46 Question Id : 87827049725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3= T 8 T SaTeH araaHE &1 9ot SIasad o8 gH

(A). TiRfcH
(B). 1 =T
(C). eXTiel
(D). €HIWR
i T U fAwed § ¥ 98I TR T
1. (C), (A), (B), (D)
2. (A), (B), (C), (D)
3. (C), (B), (D), (A)
4. (D), (C), (A). (B)
Options :

878270195621. 1
878270195622. 2
878270195623. 3

878270195624. 4

Question Number : 47 Question Id : 87827049726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of artists from eldest to yougest:
(A). K. S. Kulkarni

(B). M. F. Hussain

(C). K. G. Subramanyam

(D). Pran Nath Mago

(E). Jyotsna Batt

Choose the correct answer from the options given below:

1.A,B,C,DE
2B,CDAE
36 ABED
4 B,AD,CE

Options :

878270195625. 1
878270195626. 2
878270195627. 3

878270195628. 4

Question Number : 47 Question Id : 87827049726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@@"—M ddn GHD‘{" I 4 3:[ Cblﬂl'd‘?I{I 7] ‘HQ W tr.
(A). D TY. HADI
(B). TH. U%. g7

(E). SO HE

i

=T feu 7T fg@edl § 9 981 S| g

1. (A), (B), (C), (D), (E)
2. (B), (C), (D), (A), (E)
3 (C), (A). (B), (E). (D)
(B), (A), (D), (C), (E)
Options :

878270195625. 1
878270195626. 2
878270195627. 3

878270195628. 4

Question Number : 48 Question Id : 87827049727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of making pot on wheel:

A Firing

B. Wedaing

C. Centering

D. Throwing

E. Turning

Choose the correct answer from the options given below:

1.A,B,C,DE
2B,CDAE
3.8,D,C, EA
4 B,C EAD

Options :

878270195629. 1
878270195630. 2
878270195631. 3

878270195632. 4

Question Number : 48 Question Id : 87827049727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dld (wheel) WUEcTAR & el HIHH ::H

(A). T

(B). dfeiT

(C). Fefar

(D). 4ifdT

(E). ef

=T feu 7T fg@edl § 9 981 S| g

1.(A), (B), (C), (D), (E)

2. (B), (C), (D), (A), (E)

3. (B), (D), (C), (E), (A)

4. (B), (C), (E), (A), (D)
Options :

878270195629. 1
878270195630. 2
878270195631. 3
878270195632. 4

Question Number : 49 Question Id : 87827049728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of melting temperature from highest to lowest
A Silica

B. Zinc Oxide

C. Soda ash

D. Tin Oxide

E. Barium Carbonate

Choose the correct answer from the options given below:

1.B,C,D,E A
2ABCDE
3D, EAB,C
4 ECDAB

Options :

878270195633. 1
878270195634. 2
878270195635. 3

878270195636. 4

Question Number : 49 Question Id : 87827049728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oD @1 3 ¥ 9 % T8 3 ghH 94

(A). Tafcra

(B). i@ siiess
(C). TIST U

(D). fe= sifamrss

(E). 9RgH FEHe

1< feu 7Y fadedl § ¥ T8t SR g

Options :

878270195633. 1
878270195634. 2
878270195635. 3

878270195636. 4

Question Number : 50 Question Id : 87827049729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct steps of Slip casting

A Fill your mold with slip

B. Finishing

C. Remove excess slip

D. Prepare your mold and slip

E. Release your casting from the mold

Choose the correct answer from the options given below:

1.A,D,B,E C
2 EABCD
3.D,ABEG
4 DACERB

Options :

878270195637. 1
878270195638. 2
878270195639. 3

878270195640. 4

Question Number : 50 Question Id : 87827049729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ry 1T & Ga! IOl & 991 B
(A). Alcs & g 4 o
(B). T &4

(C). ifaRad ey gl

(D). AITS 3R %9 R &<

(E). Acs I BIRETT DI AW B

i T e famed § ¥ 98 TR I
1. (A), (D), (B), (E)

: (C
2. (E), (A), (B), (C), (D)
). (C

), (A),
), (A),

3. (D

4 (D
Options :
878270195637. 1
878270195638. 2
878270195639. 3

878270195640. 4

Question Number : 51 Question Id : 87827049730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of creating a square plate
A. Placing the mold

B. Using a foam roller to flatten the slab

C. Sanding the edges

D. Trimming excess clay

E.Redefine the edges

Choose the correct answer from the options given below:

1.C,A.B D,E
2 B,ACDE
3A,B,D.EC
4 AB, CDE

Options :

878270195641. 1
878270195642. 2
878270195643. 3

878270195644. 4

Question Number : 51 Question Id : 87827049730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PR e a1 @ Jal HH I

(A). O &1 Iuad ™M TR &A1

(B). I B TUCT B & (014 B TR BT JUART BT

(C). TH-TRI &I TS

(D). HfaRed Jiu® o1 Bers

(E). TR &1 GHI® B

-t feu U fadedi & ¥ 98 IR -

1. (C), (A), (B
2.(B), (A), (
3. (A), (B), (

4. (A), (B), (

D), (E)

), (D)

C). (D). (E)
D), (E), (C)
C). (D). (E)
Options :
878270195641. 1
878270195642. 2
878270195643. 3

878270195644. 4

Question Number : 52 Question Id : 87827049731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of making Blue pottery

A. Making the dough

B. Use of Press molding

C. Drying and finishing

D. Decoration and glazing

E. Firing

Choose the correct answer from the options given below:

1.A,BD,CE
2ABCED
3A B, C,DE
4 B,C,D,AE

Options :

878270195645. 1
878270195646. 2
878270195647. 3

878270195648. 4

Question Number : 52 Question Id : 87827049731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el JeurESH &1 Ual 9 g4

(A). T3 (Dough) Tyl

(B). U HifcsT &1 SuarT

(C). TEMT 3R fBRARm &

(D). Telrde 3R oo

(E). Srafam

=T feu 7T fg@edl § 9 981 S| g

1. (A),
2. (A),
3 {ﬂ-ﬁ

(B), (D). (C), (E)
(B), (C). (E), (D}
(B), (C). (D), (E)
), (C), (D). (A), (E)
Options :
878270195645. 1
878270195646. 2
878270195647. 3

878270195648. 4

Question Number : 53 Question Id : 87827049732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the steps of making pottery

A. Design and making

B. Drying

C. Trimming and cleaning up

D. Bisgue firing

E. Glazing and firing

Choose the correct answer from the options given below:

1.A,B,C,DE
2 EDCBA
3 A, B,D.EC
4 C,B,D,AE

Options :

878270195649. 1
878270195650. 2
878270195651. 3
878270195652. 4

Question Number : 53 Question Id : 87827049732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HGUEIDH & o0 1 872
(A). f&mzT 3R fFmfo

(B). Y41

(C). T3 3R U5
(D). To5 B

(E). Tl 3R Braf

=T feu 7T fg@edl § 9 981 S| g

1. (A), (B), (C), (D), (E)
2. (E), (D), (C), (B), (A)
3. (A), (B), (D), (E), (C)
4. (C), (B), (D), (A), (E)

Options :

878270195649. 1
878270195650. 2
878270195651. 3

878270195652. 4

Question Number : 54 Question Id : 87827049733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the method of preparing clay
A_Add sand and knead until mixed well

B. Pour liquid clay on plaster slab to dry

C. Let stand it for several hours and remove excess water on top
D. Mix it up into a slurry and pour through a screen

E. Soak the clay

Choose the correct answer from the options given below:

1.ABCED
2 ECBAD
3AB,C,DE
4 E,D,C,B A

Options :

878270195653. 1
878270195654. 2
878270195655. 3
878270195656. 4

Question Number : 54 Question Id : 87827049733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it TUR & S Al BT Tl HH I
(A). ¥d TS & 3R 33 o § Afya g1 a%

(B). Y- & felU WReX Tid | TRd Jid! 3o

(C). 39 T3 Uel do W@ T84 ¢ R IR J ffafkad o R g
(D). 5 9 & P % IR T SFF R 9Sd
(E). gt &t fiem €

-

=t feu U fadedl & ¥ 981 SR |

1.ABCED
2 ECBAD
3AB,C,DE
4 E,D,C,B A

Options :

878270195653. 1
878270195654. 2
878270195655. 3

878270195656. 4

Question Number : 55 Question Id : 87827049734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the process of pinching in pottery
A Prepare the clay

B. Make a ball of clay

C. Push your thumb into the center

D. Then pinch up the walls

E. Finishing the rim of the bowl

Choose the correct answer from the options given below:

1.A,C, B,D E
2 A BDCE
3AB,C,DE
4 ABCED

Options :

878270195657. 1
878270195658. 2
878270195659. 3
878270195660. 4

Question Number : 55 Question Id : 87827049734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fifein 9 goumed &1 ufssar &1 el 51 9.

(A). IS Bl TR B
(B). P! &1 T &l a1
(C). 307 3 § &g & gand

(D). fthY EfaR] &1 FW IaT

(E). el & o of feRiRiT &

-t feu U fadedi & ¥ 98 IR -

1. (A), (C), (B
2. (A), (B), (D
3. (A), (B), (C

C

D), (E)

), (D), (

), (C), (E)
), (D), (E)
), (E), (D)

4. (A), (B), (

Options :

878270195657. 1
878270195658. 2
878270195659. 3

878270195660. 4

Question Number : 56 Question Id : 87827049735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At what temperature earthenware and stoneware are fired?
A_700-1000 °C

B. 900-1200 °C

C. 1100-1500 °C

D. 1200-1300 °C

E. 800-900 °C

Choose the correct answer from the options given below:

1. Aand B Only
2. B and D Only
3. Band C Only
4. C and D Only

Options :

878270195661. 1
878270195662. 2
878270195663. 3

878270195664. 4

Question Number : 56 Question Id : 87827049735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[

fh g agHHE @ HGUIA (earthenware) 3R UT9TUTgTH (stoneware) salad ol 9d %’?

(A). 700-1000 °C

(B). 900-1200 °C
(C). 1100-1500 °C
(D). 1200-1300 °C

(E). 800-900 °C

4 fRu U fadedi § € U SR .

1. &ad (A) 3R (B)
2 &4d (B) 3R (D)
3. %4d (B) 3R (C)
4. &9d (C) 3R (D)

Options :

878270195661. 1
878270195662. 2
878270195663. 3

878270195664. 4

Question Number : 57 Question Id : 87827049736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The famous examples of terracotta temple:

A. Devgarh Dashavtar Temple

B. Bhitar Gaon Temple

C. Bishnupur Temple

D. Lotus Temple

E. Konark Sun Temple

Choose the correct answer from the options given below:

1. Band C Only
2. Aand C Only
3. Cand D Only
4. D and E Only

Options :

878270195665. 1
878270195666. 2
878270195667. 3

878270195668. 4

Question Number : 57 Question Id : 87827049736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=8

Il Hiex &1 Uig Ieeil &

(A). TATE TRMEAR AfeT
(B). HiaR 7ilq #fER

(C). TeeIQR HfGR

(D). g Hie

(E). DIund g4 Higz

=T feu 7T fg@edl § 9 981 S| g

W{B‘s Cﬂ_lC}
2 aﬁﬂﬁ{ﬂ GW_|C}
&ad (C) 3R (D)
@ad (D) ¥R (E)

Options :

878270195665. 1
878270195666. 2
878270195667. 3

878270195668. 4

Question Number : 58 Question Id : 87827049737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From "Stoneware' and 'Growing Stone' are sculptures of which famous artists?
A Primula Pandit

B. Guru Charan Singh

C. P R. Daroz

D. K. G. Shubramanyam

E. Lidia Mehta

Choose the correct answer from the options given below:

1. Aand B Only
2. D and C Only
3. Band C Only
4 Aand C Only

Options :

878270195669. 1
878270195670. 2
878270195671. 3

878270195672. 4

Question Number : 58 Question Id : 87827049737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WHAGR' 3R AT H ¥ fdadlt ¥ Uiig ddeR 31 82
(A). forem dfsd

(B). TR = fifg

(C). 0t 3R GRIW

(D). &. . geHUgH

(E). farfgar dgar

=T feu 7T fg@edl § 9 981 S| g

aﬁﬁﬁiﬂ aﬂ‘|Bj
2. Had (C) 3R (D)
3 3ﬁﬁﬁ{5134_|C}
4 aﬁﬁﬁ{ﬂ‘ﬁq_lC}

Options :

878270195669. 1
878270195670. 2
878270195671. 3

878270195672. 4

Question Number : 59 Question Id : 87827049738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are the most famous pottery techniques practiced:
A. White Pottery

B. Green Pottery

C. Blue Pottery

D. Yellow Pottery

E. Black Pottery

Choose the correct answer from the options given below:

1. A, B and E Only
2.B, Cand D Only
3. Cand E Only

4 A BandC Only

Options :

878270195673. 1
878270195674. 2
878270195675. 3

878270195676. 4

Question Number : 59 Question Id : 87827049738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeUHA & 994 UfiE dd-it o U 82

(A). Gbg JeurdH
(B). T HEUHFH

(C). Fiich HeuEDH
(D). UTcH HguEADH

(E). BIell JeUEHH

-t feu U fadedi & ¥ 98 IR -

1.®ad (A), (B) 3R (E)
2 an% ) 3R (D)
3. Had (C) &-ﬁ?{E

4. ®ad (A), (B) 3R (C)

Options :

878270195673. 1
878270195674. 2
878270195675. 3
878270195676. 4

Question Number : 60 Question Id : 87827049739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the pottery ceramic artists:

A. Abnindra Nath Tagore

B. P. R. Daroz

C. Ray Meeker

D. Nirmla Patwardhan

E. Shushant Guha

Choose the correct answer from the options given below:

1. C, Dand E Only
2. B, Dand E Only
3. B, Cand D Only
4 A BandC Only

Options :

878270195677. 1
878270195678. 2
878270195679. 3
878270195680. 4

Question Number : 60 Question Id : 87827049739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). 3G 1Y TR
(B). Ut 3R GRIW
(C). Y HIR

(D). e geatq
(E). G 76T

[

=I5

feU U fgdedl & T el IR 4.

Options :

878270195677. 1
878270195678. 2
878270195679. 3

878270195680. 4

Question Number : 61 Question Id : 87827049740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of these are not the content of Ball clay?

A Kaolinite

B. Quartz

C. Magnesium

D. Mica

E. Flux

Choose the correct answer from the options given below:

1. B and E Only
2. Cand E Only
3. Aand D Only
4. D and E Only

Options :

878270195681. 1
878270195682. 2
878270195683. 3
878270195684. 4

Question Number : 61 Question Id : 87827049740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=T feu 7T fg@edl § 9 981 S| g

1. Had B 3R E
2 A CARE
3. HAAAMRD
4 HAAD ARE

Options :

878270195681. 1
878270195682. 2
878270195683. 3
878270195684. 4

Question Number : 62 Question Id : 87827049741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pots made up of clay are made by which technique?

A. Drawing Method

B. Pinching Method

C. Slip Casting Method

D. Throwing Method

E. Breaking Method

Choose the correct answer from the options given below:

1. A, B and E Only
2.C,Dand E Only
3. B, Cand D Only
4 A BandC Only

Options :

878270195685. 1
878270195686. 2
878270195687. 3
878270195688. 4

Question Number : 62 Question Id : 87827049741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfy®T ¥ 95 949 (Pots) {0 aa-ia T ST 914 &7
(A). 157 fafy

(B). fdf=m fafe

(C). feea mrfee fafy

(D). 4ifdeT fafy

(E). sfdo71 fafy

-t feu U fadedi & ¥ 98 IR -

1. @dd (A), (B) 3R (E)
2 &ad (C), (D) 3R (E)
3. ®ad (B), (C

(A), (B)

4 Had (A),

C) 3R (D)
B) 3R (C

Options :

878270195685. 1
878270195686. 2
878270195687. 3

878270195688. 4

Question Number : 63 Question Id : 87827049742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are the suitable medium for the rapid solidification of P.O.P?
(A). Grog

(B). Salt

(C). Sugar

(D). Hot water

(E). Quicklime (Calcium Oxide)

Choose the correct answer from the options given below

1. Aand B Only
2. Aand E Only
3. Cand E Only
4. B and D Only

Options :

878270195689. 1
878270195690. 2
878270195691. 3

878270195692. 4

Question Number : 63 Question Id : 87827049742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). TPHIIPT (Grog)

(B). TS

(C). THT

(D). 74 g

(E). Pomasd (Gigd JaEs)

-t feu U fadedi & ¥ 98 IR -

1.@ad (A) 3R (B)
2 &ad (A) AR (E)
3. ©ad (C) AR (E)
4 ®add (B) AR (D)

Options :

878270195689. 1
878270195690. 2
878270195691. 3

878270195692. 4

Question Number : 64 Question Id : 87827049743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In pot firing which equipment/instrument is used to measure temperature?
A. Pyrometric cones

B. Thermometer

C. Pyrometer (Electric)

D. Barometer

E. Ammeter

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Aand C Only
4. D and E Only

Options :

878270195693. 1
878270195694. 2
878270195695. 3

878270195696. 4

Question Number : 64 Question Id : 87827049743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). STGATNS TF

(B). TG

(C). ST (35Yd)

(D). GTeH!

(E). YRTATI

i feu U fadhedi § T 98l S g

1. &ad
2 Had
3 Had
4 Had

A) 3R (B)
B) 3R (C)
A) 3R (C)
D) 3R (E)

—

Options :

878270195693. 1
878270195694. 2
878270195695. 3

878270195696. 4

Question Number : 65 Question Id : 87827049744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are red clay and Kaolin clay called after firing?
A. Thermo ware

B. Bone ware

C. Slip ware

D. Teracotta

E. Stone ware

Choose the correct answer from the options given below:

1. Aand C Only
2. D and E Only
3. Cand D Only
4. C, DandE Only

Options :

878270195697. 1
878270195698. 2
878270195699. 3
878270195700. 4

Question Number : 65 Question Id : 87827049744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). YHIGIR

(B). IR

(C). FeTuam

(D). DI

(E) eHam
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A) GW_|C}
D) 3R (E)
*&?R{Dn

(
@dd (D
(
(C), (D) 3R (E)

W
3 &ad (C
4. &ad (C
Options :
878270195697. 1
878270195698. 2
878270195699. 3

878270195700. 4

Question Number : 66 Question Id : 87827049745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

Artist Birth Year

(A). Amar Nath Sahgal (). 1904

(B). Lidia Mehta (I1). 1924

(C). K. G. Subhramanyam|(lll). 1922

(D). B. B. Mukharjee (IV). 1923

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (1l1), (D) - (IV)

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}

3. (A) - (N, (B) - (1V), (C) - (1), (D) - (1)

4. (A) - (IV), (B) - (1), (C) - (11), (D) - (1)
Options :

878270195701. 1
878270195702. 2
878270195703. 3

878270195704. 4

Question Number : 66 Question Id : 87827049745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). SET 1Y FEITe|(1). 1904
(B)fafsmragar 1. 1924
(C). . Wit EHATTH|(III). 1922
(D). & & gE@ei  |(V). 1923
-id feu e fawedl § @ 981 SR 9.

1. (A) - (1), (B) - (1), (C) - (1ID), (D) - (IV)

2. {A}-[Ili} ‘J (IV), (C) - (1), {D,} (1)

3. (A) - (1D, (B) - (IV), (C) - (I, (D) - (1)

4 (A) - (IV), (B) - (II), (C) - (I, (D) - (1)
Options :

878270195701. 1
878270195702. 2
878270195703. 3
878270195704. 4

Question Number : 67 Question Id : 87827049746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Bisque firing (). Second firing

(B). Glaze (I1). First firing

(C). Pyrometric cones|(l1l). Temperature measuring

(D). Pyrometer {IV). Pyramid shape

Choose the correct answer from the options given below:

1. (A) - (1D, (B) - (1), (C) - (IV), (D) - (11

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1IT)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
Options :

878270195705. 1
878270195706. 2
878270195707. 3

878270195708. 4

Question Number : 67 Question Id : 87827049746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(a). fors w1, i sarem
(B). 7T (I1). TH wEe

(C). URRIAR S =ids|(1I). a9 &1 A1
(D). TERHE (V). Tfas ensfa
- feu e famedl 5 9§ 981 o) 9

1. (A) - (1), (B) - (1), (C} - (IV), (D) - (I1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (11}, (B) - (IV), (C) - (1), (D) - (Il1)
4 (A) - (I}, (B) - (1), (C) - (IV), (D) - (Il1)

Options:

878270195705. 1
878270195706. 2
878270195707. 3

878270195708. 4

Question Number : 68 Question Id : 87827049747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Cones (1). White

(B). Green ware |(I1). Blue

(C). Cobalt Oxide|(IIl). Bend under heat

(D). Porcelain (V). Bisque-fired

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}
2. (A) - (1), (B) - (I}, (C) - (1), (D) - (IV)
3. (A)-( 1)

)

111, (B) - (V), (C) - (1), (D) -
4. (A) - (IV), (B) - (Il1), (C) - (1), (D) - (

—

Options :

878270195709. 1
878270195710. 2
878270195711. 3

878270195712. 4

Question Number : 68 Question Id : 87827049747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she

- Gial
(A). BT (). 9%g
(B). 9 TTR (I e

(C). BlaTee HFFFS|(1). S H 5
(D). Tifafem (Iv). i -FEs
- feu e famedl 5 9§ 981 o) o

1. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
2. (A) - (), (B) - (1), (C) - (1), (D} - (1V)
3. (A) - (ln), (B) - (IV), (C) - (1), (D) - ()
4. (A) - (IV), (B) - (), (C) - (1), (D) - ()

Options:

878270195709. 1
878270195710. 2
878270195711. 3

878270195712. 4

Question Number : 69 Question Id : 87827049748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(A). Bisque (). Continuous moving ware

(B). Stone ware|(I1). 998-1063 °C

(C). Tunnel kiln |(1I1}. China clay

(D). Keolin (IV). 1250-1300°C

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (I}

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1T}

3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (I1), (C) - (Im), (D) - (IV)
Options :

878270195713. 1
878270195714. 2
878270195715. 3

878270195716. 4

Question Number : 69 Question Id : 87827049748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she

it -1l
(a). o= (). FREr I g o
(B). T=HEX |(11). 998-1063°C
(C). T HgI|(I1l). I &=

(D). SR |(IV). 1250-1300°C

-d fgu TTe fadedl § 9 981 3w I

1.(A) - (IV), (B) - (ll), (C) - (1), (D) - (I1)
2 (A) - (1), (B) - (IV), (C) - (1), (D) - (Ill)
3. (A) - (I1), (B) - (1), (C) - (1), (D) - (IV)
4. (A)- (1), (B) - (I1), (C) - (1), (D) - (IVV)

Options:

878270195713. 1
878270195714. 2
878270195715. 3

878270195716. 4

Question Number : 70 Question Id : 87827049749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

Artist Birth Year

(A). Gur Charan Singh ((I). 1944

(B). P. R. Daroz (I1). 1898

(C). Nirmala Patwardhan|(lll). 1927

(D). Ira Chaudhuri (IV). 1928

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (11}, (D) - (IV
2 (A) - (IV), (B) - (1), (C) - (1), (D} - (Nl
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1Nl
4. (A) - (1), (B) - (IV), (C) - (1), (D} - (I

i gt g g

Options :

878270195717. 1
878270195718. 2
878270195719. 3
878270195720. 4

Question Number : 70 Question Id : 87827049749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she
- Geidl

HATBR o g8

(A). TR0 8T |(1). 1944
(B). Ul. 3. gRIW|(1l). 1898
(C). e geasl| (). 1927
(D). STEER  |(1v). 1928
I fgu e fadhedl f © Tl SR -

1. (A) - (1), (B) - (1), (C) - (11}, (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (1}, (D) - (11}
3. (A) - (1), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)

Options :

878270195717. 1
878270195718. 2
878270195719. 3
878270195720. 4

Question Number : 71 Question Id : 87827049750 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll

Art works Artist

(A). Sleeping cats (). PV Ramachandran
(B). Battel (). Jyotsana Bhatt

(C). Guruvayur Maraprabhu  |(lll}). K.G. Shubramanyam

(D). The King of Dark Chamber|(IV). Gur Charan Singh

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (IlT), (D) - (11}

2. (A) - (IV), (B) - (111}, (C) - (I, (D) - (1)

3. (A) - (I, (B) - (IV), (C) - (1), (D) - (1T}

4. (A) - (1), (B) - (I1), (C) - (Im), (D) - (IV)
Options :

878270195721. 1
878270195722. 2
878270195723. 3

878270195724. 4

Question Number : 71 Question Id : 87827049750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she

Gl I

DAPId DHATDR

(A). T Heg (1. gt . IEEa
(B). S@ (). SO YT

(C). THEgT ARITY (). F_ &il. FEATaH
(D). & fa1 3T B dar|(v). TR = fig

=it f&u T fasedl H 9 96l IR g4

1.(A) - (1), (B) - (IV), (C) - (I}, (D) - (1)
2. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) - (), (B) - (IV), (C) - (), (D) - (1T}
4. (A) - (1), (B) - (i), (C) - (1), (D} - (IV)

Options :

878270195721. 1
878270195722. 2
878270195723. 3

878270195724. 4

Question Number : 72 Question Id : 87827049751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(A). Bhitar Gaon Temple (). Lucknow
(B). Bishnupur Temple (I1). Indus vally
(C). Mother Goddess (1I1). Kanpur
(D). The King of Dark Chamber|(IV). Kolkata

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}

2. (A) - (IV), (B) - (II1), (C) - (1), (D) - (11}

3. (A) - (), (B) - (1), (C) - (11T}, (D) - (IV})

4. (A) - (lln, (B) - (1V), (C) - (1), (D) - (1)
Options :

878270195725. 1
878270195726. 2
878270195727. 3

878270195728. 4

Question Number : 72 Question Id : 87827049751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she

-l LiciAl

(A). HiaX Tiq #igT (1). TS

(B). TR #icx (). iy arét
(C). HaX ey (). HEY
(D). § fohT 3T ST Saw|(1V). BITB
i 6T 7T fadedl H 9§ 981 IR -

1.(A) - (1), (B) - (llI), (C) - (1), (D) - (IV)

2. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270195725. 1
878270195726. 2
878270195727.3

878270195728. 4

Question Number : 73 Question Id : 87827049752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Plaster of Paris |(1). Silica

(B). The Dinner Party|(ll). Gypsum

(C). Glaze (1I1). Indus valley

(D). Priest king (IV). Porcelain tiles

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A)-(I1), (B) - (IV), (C) - (lI), (D) - (1}

3. (A) - (I1), (B) - (IV), (C) - (1), (D) - (11}

4. (A) - (IV), (B) - (I11), (C) - (1), (D) - (I1)
Options :

878270195729. 1
878270195730. 2
878270195731. 3

878270195732. 4

Question Number : 73 Question Id : 87827049752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she

- -1
(A). T 31F dfeE|(n),. R
B).sFRuE ). s

(C). Toiw (). Fy =t
(D). HiRE febir (V). GIfRH eBee
- feu e famedl 5 § 981 o) I

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)
2 (A) - (I}, (B) - (IV), (C) - (Il1), (D) - (1)
3. (A) - (11}, (B) - (IV), (C) - (1), (D) - (Il1)
4. (A) - (IV), (B) - (11}, (C) - (1}, (D) - (1)

Options:

878270195729. 1
878270195730. 2
878270195731. 3

878270195732. 4

Question Number : 74 Question Id : 87827049753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(A). Throwing |(I). Pottery

(B). Borax (). Terracotta

(C). Olmec Baby|(l1l). Flux

(D). Bisque (V). Wheel

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV
2. (A) - (1), (B) - (IV), (C) - (1), (D} - (Il
3. (A) - (IV), (B) - (I11), (C) - (1), (D) - (I
4. (A)- (D), (B) - (1), (C) - (11), (D) - (IV

(
(

i gt g uga®

Options :

878270195733. 1
878270195734. 2
878270195735. 3

878270195736. 4

Question Number : 74 Question Id : 87827049753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l &1 Il & 91y feaE she

it -1l
(A). UrfdT (1). giext
(B). FNEH (Il). TBIET
(C). HTwi® Swi|(1l). T
(D). fo=m (IV). TId
T T ool & @ 9 R T

1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (), (B) - (IV), (C) - (1), (D) - (1)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) - (), (B) - (1), (C) - (1), (D} - (IV)

Options:

878270195733. 1
878270195734. 2
878270195735. 3

878270195736. 4

Question Number : 75 Question Id : 87827049754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Terracotta (). Manipur

(B). Slip casting |(Il). Up draft

(C). Kilns (Il1). Red

(D). Longpi pottery|(IV). Pot design

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (I}

2. (A) - (N, (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
Options :

878270195737. 1
878270195738. 2
878270195739. 3
878270195740. 4

Question Number : 75 Question Id : 87827049754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il-| &1 il & Ty e sRe

it Tt

(A). S@BET (1), AR

(B). =T SIfEA1|(11). 39 S
(C). HEt (). T

(D). TiTdT giedt |(1v). dic feurs
T foq T el § @ 98 SR -

1..(A) - (1), (B) - (IV), (C) - (1), (D) - (1)
2. (A) - (lln), (B) - (IN), (C) - (IV), (D) - ()
3. (A) - (i), (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

Options :

878270195737. 1
878270195738. 2
878270195739. 3

878270195740. 4



